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Write the name of a port of Harappa.
Lothal

anfen

The most important fundamental principle of Jainism is :

Non-violence

frifera # @ forw vmaes % qram & wga & fagri o Toet’ % w9 steiga R T ?
I 11

In court of which among the following rulers, numerous scholars were adorned as ‘Navratnas’
?

Chandragupta 11

feeett geawa & Fraferfaa Tt 1 @ from we@t s srafts e s e 7
Raersht

Which among the following dynasty of Delhi Sultanate ruled for the shortest time ?
Khilji

sereiv 3 W | ffesr v & fiw 379Y ) Heal | form |
T W STSTEAT & HIEaw o

Through the » Dalhousie annexed Awadh for the British empire in India.

State being maladministered

Frferiaa & @ forreh gra <1857 <Y shife <6t yoamra <61 weft oft 7
Ryafet

“The Revolt of 1857” was started by whom among the following ?
The sepoys
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During the movement in Bengal, a tricolour flag (red, green and yellow) was
designed.

Swadeshi

wefter ht srearht vieal o e % fw, o= A st # U Raeta wftify 1 e fear
R IR

To defend the Khalifa’s temporal powers, a Khilafat Committee was formed in Bombay in
March
1919

YT THR A, 1935 % SAFam g =meher & grer fha =mneien 61 frafe 6w off 7
How many judges were appointed along with the Chief Justice according to the Government
of India Act, 1935 ?

6

10.

forrforRaa & & i ot we <6t wffmn & Yra SIS sreien Ser W o7 2
Torer firem <Y frreran

In response to which of the following events Quit India Movement was launched ?
Failure of Cripps Mission

11.

e geid Soft H gt e Rrew A g 7
TeRIER

The highest point in the Aravalli range is :
Gurushikhar

12.

rsqentet # Il el | w@ arell To el 2 ;
9

The wind blowing in the northern plains in summers is known as :
Loo

IR b Aeh- AR 3@l % :
82° 30' Y, TR

The Standard — Meridian line of India is :
82° 30' E longitude

14.

I e % Freferfaa @ @ fera Rt o “Yiraroa” defeem sefm 27
Hiarg

In which of the following districts of Uttar Pradesh is “Naimisharanya” Pilgrimage situated ?
Sitapur

15.

N A1 Tl Fer wRd e R 2
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o
Which is the highest Indian peak ?
Kanchenjunga

16. 2 i Afer =l ara=raan faewm & Hiee o &9 # i ST S R |

New Economic Policy is also popularly called model of development.
LPG

17. 18 oft hoeft weh Tl shoft B afe sad ww @ wn e Yoft TR o 3Tferehr o Eielt 2 |
51 wfoera

A government company is any company in which the paid up capital held by the government
is not less than :
51 percent

18. “Fremreh” S i SuE e # & Reges T @ar R 2
S :
“Hallmark” is used as a logo for which one of the following ?
Jewellery ‘

19. T T TTEfior & Bl forwT-arwor S aret Tk sheta o1 it e R
T1TS (NABARD) ‘
is a central or apex institution for financing agricultural and rural sectors.
NABARD

20. 1991 % niffes Gurl & gro v o @ fora wwrean <Y 3R e fm mm o 7

foraft g visw & wene
Which among the following was the issue being addressed through the Economic Reforms of
1991 ?
Crisis in Foreign Exchange Reserves
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21. T o @ ol s “om e o) aftrfa e 7
DT 110

Write the name of Article which defines the Money Bill.
Article 110

2. F arreyl 8 Fr s ot At 1 Frafor @ @ s o v =nfe |
sy Hfa & P Rigia

are the ideals that a state must keep in mind while framing policies.
Directive Principles of State Policy \

23. o 9 @ fopat wiferes et bt Seaifiga foRam e @ 7
WIT-IV %

The Fundamental Duties are mentioned in which among the following ?
' Part-IV A

24. VR SiGUH o1 SE 343 fhaeh i R 7
T I TSI
Article 343 of Indian Constitution is about :
Official language of the Union

25, Tae1 o & 1 o wat =amrer % =mndfe < dan-fgfi 6 ad g R 2
65

Which among the following is the correct age of retirement of Judge of Supreme Court ?
65 years

26, e H @ N A1 gyAy & 9ra O 6 A Uh T aEi R ?
G

Which of the following is not among the seven colours of the rainbow ?
White

27. Fada et s e ssrdadi amramare 2
AT
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Which of the following gases is not known as greenhouse gas ?
Argon

28. =R Grer e yafera am R 7
Hifsam wEke

Washing Soda is the common name for :
Sodium carbonate

29. 3ANH Bie (Hole) forad waiftra & 7
THATT el 7 3N I h A # el @ |

Ozone hole refers to :
decrease in thickness of ozone layer in stratosphere.

30. G 379 IR A E: HEl A M HA S 7
forgt

Where do plants receive their nutrients mainly from ?
Soil

31, (625-223)x (335-223)+(0.0016—2.987)=
1.517

32. Torum fepra w3 8 we <t s o wes fomtd few, ufeeress ifese we o sah a=a & and %
S R | I 36 9T el q=a b I 1,50,000 7, A 3T ufserss Nifede e # fea &) s=a
$HE?

One-third of Manoj’s savings in Kisan Vikas Patra is equal to one-half of his savings in Public
Provident Fund. If he has * 1,50,000 as total savings, how much has he saved in Public
Provident Fund ?

* 60,000

33. 7 itk GEAT3T T 3tEd 20 R | 39 GEal d O 9ol 9 gen @
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The average of 7 consecutive numbers is 20. The largest of these numbers is :
23

M Tk :(76+84)2—(76~84)2 — 9

76x84

i ain  (76+84)2-(76~84)° _

Simplify : — =
4

35 V9+4/5=
2+4/5

36. “enwr” o1 gl Aty fede @ —
g0+ 39

37. WHYA WG ‘3AfeT- I’ Ioq Z 1 Tel 3 R 7
fu-geh

38. “GrR” &1 qAiEeTE wee § —
@

39. ‘g w1 foeim s g —
Tew

40. “hieg BT I BT H1 3R B -
T g o o @ |

Read the passage carefully and answer the corresponding questions : (Q. 41-42)

Going to an all-boys high school was no fun. Joe’s parents thought it would be a good idea to
send him there instead of a public school because “he would get distracted by girls,” as his mom
would say. Once, during his third year, Joe begged his mom to let him go to public school. “I just
want to be normal,” he would tell her. “I want to meet girls. I don’t want to be weird.” But his words
always fell on deaf ears. Mom always said that Joe had plenty of time to go on dates after high
school, and that he needed to concentrate on his school work. This usually made him very sad, but
like a good kid, Joe just nodded his head and went on with his studies. That all changed one day
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when Joe met Carmen, who lived just two blocks away from him. One day he ran into her at the
market by chance. They had gone to kindergarten together. They were also of the same age. She
was in Joe’s class, and she remembered Joe, too.

After about two weeks, they were going steady. Joe was so happy, but had to hide his
relationship from his parents, which was okay because Carmen was hiding him from her family,
too! “Are you kidding me ?” Carmen said, “They would kill me if they knew I had a boyfriend!”
Everything was going great for a time, but Joe’s mom was right. His grades started slipping, and he
soon was on academic probation because he was spending too much of his free time with Carmen.
She also dropped a grade or two. As a result, both of them had to go to summer school to improve
their grades, but Joe didn’t care. He was in love and that was all that mattered at the time. Much
later, he came to realize his mom was right.

41. Joe’s mother did not want him to go to public school because
Joe would get distracted by girls

42. Where did Joe meet Carmen ?
Market

43. Choose the correct synonym : “random”.
accidental

44. Choose the correct antonym : “beautiful”
ugly

45.  Give one word substitute of : “sensitiveness to the action of a particular food”.
Allergy

46.  BIETHT T S TN T §U BICH 3 T, “F7oh geheila 0 o1 I HO wehi w1 oré 2 1" et
fore e g1fdes @ waiftra & 2
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L ! wE
Pointing to Falguni, Hardik said, “The son of her only brother is the brother of my wife.”
How is Falguni related to Hardik ?

Sister of father-in-law

47. Tew e ferepeuil © @ ST o1 T IR ;
Choose the odd one out from the given alternatives :
4125

48. 8:20 1 T HS! % He hi g 31 fire <t gg o ofter w1 hior wir hifd |

Find the angle between the hour hand and the minute hand of a clock at 8:20.
130°

49. Freffad so 3 @ e fog m § a3tk 369 =m fred (1), (), () @ qV) Rem d | 5@

freepei(uT) a1 =1 hifSre it afehen w9 @ fow e et 1 sgeor Far d/+0@ # |
HYT : HIg LTSI Pl TR 2 |

- ot g fefeemi § |
e
(D) IS crare ool T 2 |
(1) <1 forceht etaren & 2 |
(1) o fafeeai g |
av) et fafeemt 52 € |

heet (110)
In the following question, two statements are given, which are followed by four conclusions (I),
(IT), (I1T) and (IV). Choose the conclusion(s), which logically follow the given statement.
Statement : No door is dog.

All the dogs are cats.

Conclusions :
(I) No door is cat.
(II) No cat is door.
(IIT) Some cats are dogs.
(IV) All the cats are dogs.

Only (III)

50. 3¢ SCHEME ! TDIFNF % &4 # sfea foham simar 8, @t WONDER % fore @ e 2 2
If SCHEME is coded as TDIFNF, then what is the code for WONDER ?
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51.

frferfea # & =7 @ 2w 1202 gt | Heiftra & 2

I — A — 4T3, — LT,
Which of the following countries are associated with the ‘12U2 Grouping’ ?
India — Israel - UAE - USA

52.

el aeheiiehl v, wn 3. &g Faw o sresfa e & forg et = TR 6T TRt
1Y WG HI 7 |
e feran

NASSCOM partners with government agency to attract investment for Indian tech
SMEs.

Australian

53.

TLHR o Taifired arefl JArem 3 &t & H WRd & HSAHed T3 I 41 397 I aret
I+Td N-3u 6t 3mmgfd < |
w4

state-owned Rosatom recently supplied upgraded N-fuel to India’s Kudankulam
plant with longer fuel cycle.

Russian

54.

T @ guan At (NFSA) & T ek geesies | g goft & usai | T
M w g |
Sfem

state topped amongst the General Category States in ‘State Ranking Index for National
Food Security Act (NFSA)’.

Odisha

01

§5.

1. Teig g wfa geeanr freferfaa o | fr g a wafoa @ ¢
i S
Dr. Rajendra Prasad Memorial Award is associated with which among the following fields ?
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Public Administration

56. =1 o © Forw Tt H Wi o WU ‘31 TeR 1 IgEteA o R 7
ST

In which of the following states India’s first ever ‘Amrit Sarovar’ was inaugurated ?
Uttar Pradesh

57. Frafafea @ @ fra v o g € 8 R @ s ae e E ¢
T

Uranium Mining Reserves have been found recently in which of the following states ?
Rajasthan

58. Tferfaa # @ form T W gt § <hefter el g g v g i 3k frem e % o wree
TeoT SRRl I < T B ?
B

In which of the following states, Honey Testing Laboratory has been launched by Union
Minister Narendra Singh Tomar for Agriculture and Farmers Welfare at Dimapur ?
Nagaland

59. Frfoafaa ® & fora shoeft 3 3 wem ‘Avares wreed Saver’ FoFT e H R 7
TS TS SRS SRR
Which among the following companies has launched an industry-first ‘Global Health Care’
plan ?
Bajaj Allianz General Insurance

60. “ferree T &, wigd 3R iwers g, 0. 318.” e o grr wiea R e ® 2
areft

‘Wearable ATM Cards and Offline UPI” has been launched by which company ?
Acemoney

61. Faffgada s A uaF Qv fluew d 2

Hieient; AIedlE
Which among the following are two neighbouring island countries of India ?
Sri Lanka; Maldives
MASTER : 11 01
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62. TrifiRea ¥ O @l € A hl TstarEl R 7
Ehe

Which among the following is the capital of Oman ?
Muscat

63. FrafaRaad @ Teh ohg, WITRYd S <hY T =181 2 |
g

Among the following is not a capital of Union Territory.
Aizawl

64. Trfaaa % & i e @ % wem ey (wie) o ?
O W R
Who among the following was the first speaker of the Lok Sabha ?
Ganesh Mavlankar

65. WG “Iaugr st feaw fora o wrsmran @ 2
17§

“The International Workers’ Day’ is observed on which day in India ?
1 May

66. Tr=feiiaa o @ fore 8T ! TSI 71 Tthe 8T HEI I8 7

I
Which among the following cities is called the ‘White City’ of Rajasthan ?
Udaipur

67. “TmTs wareaa” FreiferRaa # & fra usa o s R s ® 2
g

01 12 MASTER
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“The Sangai Festival” is organized in which among the following states ?
Manipur

68. HYH UY ITWNEHT hT TP ©eA & :
SgEier

The National Game of the USA is
Baseball

69. fr=fafaa d @ fora safr ¥ “fée e qeass fereht 2 7
TR e
Who among the following person wrote the book “Hind Swaraj” ?
Mahatma Gandhi

70. “gia @i @ reprsfén) @ arel @ % AT ! ST H TEd T SN <l TEH 37/

&1 A1 |

B LRCRRIEURIE]
‘Green Accounting’ means measuring the National Income of the country taking into account
estimation of
Pollution and environmental damage

FrforRaa sr=ag ) Tge I8 T Il (1. 71 8 75) % SW AR |
T TEF ® S SR ¥ ShY B T AT O, A € Ui # 1 &) 3 319 Wiy <hi e sige o
6t fwane Qar & o1 S ) e it AT F Tug Tk Al b e T N W9 AT| wga & @R A
TSI} o SAcIer | Jgeht Tehrl el b Big < ofY, uReam 1 g wmn fean o 3tk =gt ae foh 3
YTUT} <1 HIE 7 Bis feam a1 foraa & o= 291wk 39 3TTe) <kt e # wmn e 3k 3o § 39 AW
b Tl & | 37 oft 2R W # afiTa Jar € S Srer-3ren urd % Ty IS gUE | SMavEehdT Ue WA
ST g e SeereRt gt aTel H T ST €| At 1 e fEde ws ol afid sEren s @ 81 |
2 Age hit Afdrerer w1 ReER grar S @ 1 W, o, foehen 3t 9 % g3 amg Ik Ha i
HEH! o AT WIS eh STATeR0T hIeTEeTqu & 1T & | &1 ¢@ el arsit oR 3T | e g & fo wmet
1 eieh Sk 318 Yol ST STEal &, W B ITehT hI3 SITHA it oTel 7 & | 1 <hl T gferenaii 1
ST T G A U 379 <ht Fereht TIT-HEST & 0 el Twerd | Frder STet 7E g Hd 8 |
7 31 o foru orre-oreet vy few st €, wrtar <t it R, frehen 3tk we1 & g8 9w 3k v <6t san
s STt €, gEd WAl W Hies IDTAn A1 81 A-h JHRY |H, G, &8 I 9 Afei w5
Tk 39 Ty ek Y ST & | & TSTa1 91 % Ferh bl et foun femma &, wieg 31w sl 1 ferewr

MASTER 13 01
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7 ug Sora 81 A et aiE wwE § o qua o =il % oiera A Sdr Sl ale @ g ol | 3 et
e T @ Rifdra Sret a1 arftrer 3 wfer smrees =)

71, ITTEBE b MUN W AT, 6 TRt % feremTer Fammor aie w6 ferw Sian 6t 5 o geferan
1 HTIET 33T & 7 T HEl ITHH AT 8 ?
e Sftaa & e e <ht oo <t =St 3 1 T |

72. e = Tl =mea foh wnt Rifr grent aran arfererrt o ufe Srees o 7 Ged wEl dehg ST A
e
Trfra <iv 219a e < el Hiua g 8 IS 3R G % e gt S T YAt
¥ wefierort ) e 3 &1

73. TaeforRaa & Smerd & gd o Janatt <t i o frsiar o, St 3t o Yaradl A e 4@ vedt 2 el
T TohYh STLHH AT R ?
TR & Y o a1 39 <l Qa1 S o forg Trehfer 3 ama 9

74. AT AT~h THR T, T, 8 3R W it 1 =i Heh 319 7Ty 7 g A 2 | Aarai
%1 AT DI |1 R 7 TaH TEl dehgeh ST hIA AT R ?
St gRT e 1w =t & g St

75. A T 9T 91 Seerd € 7 WO el qehyh ST b IR 7
- T % forg gl wid sige 7§ widt & a1

FrafeRaa 8% 1 gt I8 T W (. 76 A 80) % I R |

foramt o1 gAR Sfa  waifiren Tew gar @ | 59 S o st €, 3w v i weat i 3T she
# TRt e &1 Al 3w I 3t 31re % fereml o 1@ 8, i sftem 3t wenail @l sresia e
@ & 3R 3w faoda froen ok forar & frew Sfiem # geemall #t s 3k died 81 gEd wm
Torgama ot <1 R | TS &9 T W AT R M 9Tl W T e e #, Rl e i @ i
I 70 38 Sfie ® TehrRIcHe T WA Tad &, ZaR Sftae R 3 Jitesr & S| & 3o st
Sfie H wren aret geTail 3R 319 3ie <t 36 gua ot Wl feremurares feufe w1 sreae fean R ¢
e 3T T, IGeetar S STCHISTET hl ol & AW &, a1 wrEi-Rifg 3T aberdr » gd o 2|
T foradia Forrem, T, w1 3fit e & @ forg ¢ Fofa w2e wrera 3t awerar & faada 2 s
e W weig & e tea € 3t 3 % o gt aeftes fufe seerdt wedt 1 3o wa S
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s, Wi, Feraprelisr $oaf, el e, vrr, Froram anfE 3 wirar wey wmass B € 3k o 9w a6 3R
st &4 TRe, AR 3R WISHTeTS ®9 & 7 ST Gehdl 81 ST, e, SETAT, TEHH,
arfig 3T Goperan STH i S et RIS AR 3 SR gR g aed o ufy i ]| ot ww AR
fererrtl o e2rm ot 3 e & it gt bt ety # wree wha 81 31 A v A @ wekr AR “an
1 WgT: sherelt T ferera: |” weft feanatt & e fomm A st and |

76. Trafeiga  fora ot & vl e e © 2
AT, Icpeerat, ST, Jenr, Friveaarn, dgid, snefavams

77. TR SHeA e AU ¥ 3SR Y WIAGR ?
@ hie, e, 5at, R, v IR eaes v e v e el dear @ v sl
g |

78. r wemaii it 3R shem # snesfifa w0 3 R g wn wen w2
TR RS i feramt & wer uitgfa e =iy |

79. 3G G o TR Sl e ST HRar R ?
A9 AfTSeh % Rl Wt @I St erTaR AT Rl gy |

80. & FHri-fafg st gwed F aga U FTEAE ¢
el EH TR, Iegroeral I TR hY el @ N 8 & |

. 810 85 : Fr anferent web vt # wra v} grT 3ten- 376 v v § ww 371 o Yfersrd ! exrid
® | 37ehei Yt wraeHIgEes ufy ud weet % I AR ;

Q. 81 to 85 : The following table gives the percentage of marks obtained by seven students in six
different subjects in an examination. Read the data carefully and answer the questions :

A

(87 Sty )
TV g
ST DSy '“?"i'_i.'ni T 3

O I e
b
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frqa (arftveaw siw) / Subject (Max. Marks)
. wa
or / | g / | wivra / | sl / f Tt / | mvagen /
Student| History | Maths | English s /| Bindi Computer
gy

(150) | (130) | (120) | (oo) | (60) | (40)
gitem /| 65 35 50 77 80 80
Ankit
waw/.| 80 [ 65 | 85 95 | 50 90
 Brijesh
e/ | 90 60 70 70 90 70
Chirag
/| 70 75 65 85 40 60
| Divyesh
wA/ | 90 50 90 60 70 80
Ebap
TR&S 100 80 80 40 80 70
/ Farnk
e/ | 80 65 80 80 60 60
| Gautam

81. If o weft e wE gro e e 3itea 31 fReaR @ ?

What are the approximate average marks obtained by all the seven students in English ?
89

82. uft foreaai ® 60% a1 3T@ 31fRrek 3ieh YT HH ATl BT h! TEAT fea & 7

The number of students who obtained 60% and above marks in all subjects are :
2

83. ol o8 Rl o ugm g W e 376 RRaR @ 7
What was the aggregate marks obtained by Ehan in all the six subjects ?
442

84. o1 @ o forwar o ot wiftwma =am & 2
TR

In which subject the overall percentage is lowest ?
Maths

85. oIV 1 A Nfewra (TrmaT) Rpam R 2

What is the overall percentage (approximate) of Brijesh ?

01 16 MASTER
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78%

5. 86 & 90 : Ty wiferert o1 AraerFiye reRm Hif it swt % s dh |

el < =t 3 X st g ffifa (gamd o) 5 wer et wRi (A, B, C, D, E) ! W1 % 3ifepre = o2 mu
8

Q. 86 to 90 : Study the following table carefully and answer the questions.

Data of Number of 5 types of cars (A, B, C, D, E) manufactured (in thousand) by company X over
the years given below :

TR & THR / Types of car
af/ | A B C D E

Year
2016 230 200 125 130 | 115
2017 240 220 228 165 212
2018 250 | 215 212 230 | 218
2019 260 215 230 220 125
2020 230 135 240 120 120
2021 255 130 250 220 130

86. a92016% 2021 %A= X ot gra Fififa il 8 @ fore v 1 R G e R 7

Which type of cars manufactured by company X during 2016 to 2021 is the maximum ?
A

87. 2016 & 2021 T% HR ‘A’ % Seare § SrguFra g fhet sferera by oft 7

What was the approximate percentage increase in the production of car ‘A’ from 2016 to 2021
?

10.87%

88. foract o # forw srahm <t T 6 Searert § waa gfg oot T 7
Which type of car registered continuous increase in production over the years ?

T4 @ %1 TEf / None of these

89. a9 2016 T W ‘E’ o1 ITeH, S 2019 R B? b Iearert o1 ST R stRwr o 7
The production of car ‘E’ in the year 2016 was approximately what percent of the production
of car ‘B’ in the year 2019 ?
53.5%

90. = 2018 F 2021 % A FR *D* 3 et & T et wrera o6t e 26 7

What was the approximate percentage decrease in production of car ‘D’ from 2018 to 2021 2
4.35%

MASTER 17 01
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w. 91 % 95 : Fry = wh ieh o Webte 1 R TR @t witrera feraor gwiian @ | TS =1 @1 oA
i 37t 39 W 3T et & Iat i ;
Q. 91 to 95 : The following chart shows the percentage distribution of the expenditure incurred in
publishing a book. Study the pie chart and answer the questions based on it :
LERERIG
Promotion cost

YiEe s 5%

Binding cost Printing cost

16% 25%

91. e geehi 6 wah Fifvad amm & T sepreres ®1 * 20,600 qgor @ & w9 F T Ar R, @ =
qEdehi o foTq Uaedt o foraft wom o) @ft 7
If for a certain quantity of books, the publisher has to pay * 20,600 as printing cost, then what

will be the amount of royalty to be paid for these books ?
* 16,480

92. HIUT ATA W R T W o IEY WU (V) T BT BV TR ?

What is the central angle of the sector corresponding to the expenditure incurred on promotion
cost ?

18°

93. & I e, TR qed & 20% H Jifha o 1w ] | afe geass 1 3ifa 7o 160 2,
e <l Teh Hifdl ® IR 3R TR st o) e R R 7
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The price of the book is marked 20% above the Cost Price If the marked price of the book is
" 160, then what is the cost of the paper used in a single copy of the book ?

" 40

94.  afg 5200 sifcli w1 seRTe foma T ST IEehl ulEEH @Td <l Ui 80,500 &, o YEdeh sl JiHTHG
Tersra e e B =nfRe arfes sremTeres 25% o1 ey 3ifla s Ess ¢

If 5200 copies are published and the transportation cost on them amounts to * 80,500, then what

should be the approximate selling price of the book so that the publisher can earn a profit of 25% ?
" 387.02

95. e i Uaeel, Yool @rTa A fobam afemra s @ 7

Royalty on the book is less than the printing cost by :
20%

T, 96 ¥ 100 : 371 T@1 U1 ek 9 grRT aN 2001 F 2007 3 AT TR T 37T Y T § 39 HUA)
6t frarfa 6t w1 U guiaT @

Q. 96 to 100 : The following line graph gives the ratio of the amount of imports by a company to
the amount of exports from that company over the period from 2001 to 2007 :

ud & Ul # uh St % e - Pt gea w5 s

Ratio of Value of Imports to Exportsby a

Company Over the Years
* s i
L5 2 =
1 0.8 /\M/
0.6 / R
05— Sy
E <03/

0

2001 2002 2003 2004 2005 2006 2007
! Years

96. I ad 2004 H TG * 240 B AT N T 2004 T 2005 1 Fer G Farta 500 FS @1,
A o 2005 H AT R o ?

* 450 TS

If the imports in 2004 was * 240 crores and the total exports in the years 2004 and 2005
together was * 500 crores, then the imports in 2005 was :
" 450 crores

MASTER 19 "
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97. forw o 1 sherelt o e, Frata % sreqam s 9 7

The imports were minimum proportionate to the exports of the company in the year :
2003

98. = 2003 & 2004 Teh AT # feber wforera gfig g8 oft 7
What was the percentage increase in imports from 2003 to 2004 ?

81 AT / Data inadequate

99. @fe 2002 H Ut T IR * 260 FHAE T, A 2002 T Hoeht A Frafa o -
325 W8

If the imports of the company in 2002 was * 260 crores, then exports from the company in
2002 was :

* 325 crores

100. o3 2 =t & @ forem ol 3 FPrarfar, smama & sifos o 2

In how many of the given years were the exports more than the imports ?
4
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